BB

20224F5 H 1 A BI/E
— £ W #F X
k| e D
SR Bz HEH = Bh# A At it
% 28 % 28 % 28 % 28 B |F
AMERESE | AMERESR 21| 10 2 5 4 0 2 1 3 16 11| 27
By 2 1 1 2 0 0 0 0 3 3 6
/INEE 21| 12 3 6 6 2 1 3 19 14| 33
TR R 14f 9 0 1 0 0 1 0 0 10 1] 11
Pp— 8 4| 7 0 3 1 1 0 0 0 11 12
By s 1 0 0 1 0 0 0 0 o1 2
/NG 28| 17 4 2 1 1 22 3| 25
E 7R 100 9 5 5 3 0 0 0 2 14 10 24
EBREER | 7o evsnsm 4 7 2 2 2 0 1 0 0 9 5 14
/NEE 24 16 7 7 5 1 2 23 15 38
SREBEWR 0 <3> 0<6> 0<0> 0<I>] 0<0> 0<0> 0<0> 0<»
TR B TERE 0 <15> 0 <2>] 0<3>  0<2>] 0<0> 0<I>| 0<0> 0 <0
FREBEWR 5 <KI> 0 <0 0<3>  0<0| 0<0> 0 <0 0<0> 0<0f b 5
CEC 0 0 0 0 0 0 8 5 8 5 13
AAGEAET L ¥ — 0 0 0 0 0 0 0 0
Bkt v 2 —
& & 73 34 3 10 8 1 3 9 8 77 37| 114
M1 RREILER O RFAROINEE BRI U B EHERIL, 3FEITED 45,

%2
%3

MIAIFZERE D < YITEEE 2 b OB EEL,

BUTHE — AYS T 0 048
ANEFEFE ~ EYREERK 33 EEEARK, 02T A=31. 1A
PREFES ~ EEEEE 26N (EREEAERL, 0T0N=42.8 A
[ B ~ ELHEH 3B EFEFAERUA3A=11.6 A\
SWHABFMER ~ HEEEH 10N GREAEZED)  EEFAEBI2A=1.2A
PRI SRR ~ EYTLEEM 23N GRHEEEAET)  EHEFARION=0.4A
FRABRER ~ FEHBER IN GEHEBZET)  EREFERIAN=0.TA
BRI B
20224E5 4 1 H BI{E
TR 5 L8 At
FhrE 1 1 2
AT 1 0 1
RYEBRH 27 33 60
REIETPY - S E PR EGH 7 9 16
PR TS B VR S5 13 7 20
FEB TSR B HE [ 5 AR 0 2 2
TS 17 9 26
N 25 D 0 0 0
T AT LS 6 2 8
N E 5 3 8
liEpr s 5 2 7
a0 82 68 150




